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Simplification - Percentage - Highest Common Factor (HCF) -
Lowest Common Multiple (LCM).

Ratio and Proportion.

Simple interest - Compound interest - Area - Volume - Time and
Work.

Logical Reasoning - Puzzles - Dice - Visual Reasoning - Alpha
numeric Reasoning - Number Series.
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TNPSC ORIGINAL QUESTION
SIMPLE INTEREST

Mala invested Rs. 5,000 for two years at 11% per annum. Find the total
amount received by her at the end of 2 years.
a. Rs. 5,100 b. Rs. 6,200 c. Rs. 6,100 d. Rs. 5,200

omeom gyewniom@ 11% eully aispdded ap 5,000 &3 BJewih IHHEDHEHE
WHeSH OCFUIHBTT. @TewiLmD SLewigeT (paled ST GuEID CTHHS
OFHTnHMUISH SHTEWISb.

a. @ 5,1000 b. 5. 6,200 C. 5. 6,1000 d. e 5,200

Assistant Public Prosecutor -2019

A certain sum of money amounts to Rs. 6,372 in 3 years at 6% on simple

interest. Find the principal.

A. Rs. 5,000 B. Rs. 4,500 C. Rs. 5,400 D. Rs. 4,000

o GUIUILL Oxtemaswnaigm 6% sl ly aissHdld 3 SueBaeisd op

6,372 oHBFH 6T DIFM6VSH  BHT6EWIH.

A. . 5,000 B. em. 4,500 C. ap. 5,400 D. 5. 4,000
District Educational Officer - 2019

Vaideesh deposits ¥500 at the beginning of every month for 5 years in a

post office. If the rate of interest is 7.5%. Find the amount he will receive

at the end of 5 years.

A.¥35718.75 B.¥37518.75 C.¥37581.75 D.¥35817.75

waugderd  eteiieuT ¥ 500 @  @ealeur@m  WTHH OHT_SBSHID @I

DIEhFVBHHD 5 PTBHBEHHGF CFIHHBBTT. aul'lp aisd 7.5% eefed 5

SLEWT(BH6T (pIgaled ST QUEBID COFHTeNd 6l6laleTe]|?

A.¥35718.75 B.¥37518.75 C.¥37581.75 D.¥35817.75
District Educational Officer - 2019

A sum of money quadruples itself in 24 years under simple interest
scheme then rate of interest is

a.12.3% b. 12.5% c.10% d. 22%
QM O0xTmd 24 HNihHeNed SHalaully aiHHHe0 BTG LOLRISTHBS
aefled QU ly @IHID 6l6le6eTe)]|?
a.12.3% b.12.5% c.10% d. 22%
Assistant Agriculture officer - 2019

The simple interest on a sum of money is % of the principal. Find the

rate percent and time if both are numerically equal.




a.S% %,S%yrs b. 7% ,7yrs
c.7 % %, 7 % yrs d. 8% 8 yrs

R GEUILL OgTemaulle SHeleul IQuITeTdl OIF6Vle %Lol_réj@és@ &LDID,

QUL 19RISH(IPD, QUHL (P 6Tewl WHIT60 Flowms QHBHGSWEUTSH  aul g
AIHHMBUID QUHL SHEDSUID SHIT6w0T.

a. 8 % %, 8 % QU(THL_BIG6IT b.7% ,7 eu@mLmimer

c.7 % %, 7 % QU(HL_MBIG6IT d. 8% 8 au@pLmiser

Cooperative Societies - 2019

A certain sum of money amounts to Rs. 8,880 in 6 yrs and Rs. 7,920 in

4 years respectively. Find the principal

a. Rs. 12,000 b. Rs. 6,880 c. Rs. 6,000 d. Rs. 5,780

@ GBI’ L gFraig 6 Spempaeisy ¥ 8,880 oumad 4 oyeBaeied

7920 aysad IpIABE aaled SIFMeH HTRIS.

a. Rs. 12,000 b. Rs. 6,880 c. Rs. 6,000 d. Rs. 5,780
Cooperative Societies - 2019

At what rate of interest a sum of money doubles itself in 10 years in

simple interest?
R OFTendwTargd Halall g (weomsuled 10 aumLSHIL BT IQULTS b
ALl il eleieieuTd BHobs CouewiBLd?
A.10% B. 20% C.50% d. 25%
CCSE - 1V EXAM

Ashok deposited Rs. 10, 000 in a bank at the rate of 8% per annum. Find
the simple interest for 5 years.
a. 2,000 b. 40,000 c.4,000 d. 5,000
9IBzmdH 10,000 eHUTEW UMIBHG 8% 6IFMB aullg aiHHHed @ BB U
WHeSH OFUIGIETeMeNTT. 5 eEI(HHeMN60 HWLHGWD HN QU I9eDUIDH BHTEwIH.
a. 2,000 b. 40,000 c. 4,000 d. 5,000

Draughts Man Grade III

Two equal sums of money were lent at simple interest at 11 % p.a, for 3
Y2 years and 4 Y2 years respectively. If the difference in interests for two
periods was Rs. 412.50, then each sum is

a.< 3,250 b. X 3,500 cX 3,750 d. %4,250

R OFTews QwgBEG 1% Halally oldssHed 3 V2 eatibhoeEnds
CaThHesII LS. 6% oene] OFTms 96 salally aldssdHe 4 72
DETHBEHHGID  OBTHHBUILL L F. Sl l9Heller  alHHwITFD .
412.506100760 Q@BTHGHHLILL L. CFHTend 6T6TLS! (T

a. a5.3,250 b. 5.3,500 c. 5.3,750 d. e5.4,250
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Drugs Inspector in Medical Service

What will be the amount a man would get, if he invests 10,000 at 9%
per annum  simple interest for 3 years?
a. 12,500 b. 11,800 c. 12,700 d. 12,000
@mauT I 10,000 8 SpewigBE 9 Haflally aisHH0 (pEID UETHHEHHE
WFHSH CFUIHTEL DUHSGH HmMLSGWD OTHS CHTeNE 6l6lelerTe,?
a. 12,500 b. 11,800 c. 12,700 d. 12,000

Drugs Inspector in Medical Service - 2019

Find the simple interest on Rs. 7,500 at 8% per annum per 1 year 6
months.
a. rs. 600 b. rs. 700 c. rs. 800 d. rs. 900
R7,500 63 8% ey oHd @® UBHLD 6 (IDTHBIGEHHBTET  Heol
QUL IQEDUIS HITEWTEH
a. % 600 b. %700 c. X800 d. 3900

CCSE - 1V EXAM 2019

A certain sum of money in simple interest scheme amounts to Rs.8,880

in 6 years and Rs.7,920 in 4 years respectively. Find the principal and

rate percent

a. Principal = 6,000, rate = 8% b. Principal = 6,600, rate = 8%

c. Principal = 6,000, rate = 7% d. Principal = 6,600, rate = 7%

R GURUILL 9SForaigh Hl ey aiHHHL 6 ewiBseieo 8,880

5D 4 ewiBHeriled 7,920 SIFQD LOTBIHBH 6T6efled DIF60 OBBID UL 19

AIHHMBHDH BTN,

a. o =6,000 ey aisd =8% b. @iFe0 =6,000 a1y aixsbd =8%

c. 90 =6,000 au'y aipd =7% d. &1560 = 6,000 a1y aisd = 7%
Group I Preliminary - 2019

The Simple interest on a certain sum for 3 years at 14% per annum is Rs.

235.20. The sum is

a. Rs. 480 b. 560 c. 650 d. 720

R OxTemasuler sl e’y 3 HYaibhdehdE@ H.235.20 Guend e’y aisbd

14% ereofled ©IHOHTNHUNGET DFHIL| 6T60TLIS

a. . 480 b. ep. 560 C. @B 650 d. ep. 720
Hostel Superintendent

Vinay borrowed Rs. 50,000 from a bank for a period of 2 years at the
rate of 4% per annum. Find simple interest

a. Rs. 1,000 b. Rs. 3,000 c. Rs. 2,000 d. Rs. 4,000

alleul e eumIdSluled 5.50,000 eI Il lp o0 BTewiB 6w HDHEHDHGHD

SLOMS CQUBBTT Heoleul 19 SHTewIs.

a. ep.1,000 b. e5.3,000 c. e5.2,000 d. ¢5.4,000
Jailor - 2019




15.

16.

17.

18.

19.

The simple interest on Rs.68,000 at 16% % per annum for 9 months

a. Rs.1, 200 b. Rs. 8,050 c. Rs. 8,500 d. Rs. 1,020
W (BHG 16% % aizb 68,0005@& 9 WIHSHHBHTHT HN AU IQUITETS]
a. Rs.1, 200 b. Rs. 8,050 c. Rs. 8,500 d. Rs. 1,020

Laboratory Assistant in Department of Fisheries - 2019

If a sum of amount double in 9 years then the rate of interest per annum
is

a.9x1o b. 101 % c. 112 1oy d.12119
99 9 929 29
R OFHTMd 9 aUHLMEIS6N60 G QLTS EIBS 6TenN60, aully @l&HLIoTeg)
2.9 9% b.10 1% c. 1119 d.12119
9 9 9 29

Laboratory Assistant in Department of Fisheries - 2019

Find the principal on amount ¥11,800 at 6% per annum for 3 years being
simple interest annually.

a. 8,000 b.¥9,000 ¢.¥10,000 d.¥9,500 e. Answer not known
eeBTanihEefled 6% Hallaul iy aipd Owrss Osrans AU1,800 oefdb@b
SIFMDH BTG,

a. ¥8,000 b.¥9,000 ¢.¥10,000 d.3¥9,500 e.alew Gziflwaisdemev
TNPSC GROUP I PRELIMINARY EXAM 03.01.2021

A sum of ¥48,000 was lentout at simple interest and at the end of 2 years
and 3 months the total amount was ¥55,560. Find the rate of interest per
year.
a. 7% b. 8% c. 9% d.10% e. Answer not known
BLEMS  GQUPBIBLILLL g0 I 48,000 &@& 2 SLewiBEeT 3 ITHH
BTeHIBGL a1 Haflaul g cpeold QuUpLL’ L QTdssd OFHTens I 55,560
a5 QHHHH 6160 QI HHMHH HTEWIS.
a. 7% b. 8% c. 9% d.10% e. alenL  GaMuialsvemsv

TNPSC GROUP I PRELIMINARY EXAM 03.01.2021

A sum of 346,000 was lent out at Simple Interest and the end of lyear

and 9 months, the total amount was I52,440. Find the rate of interest per

year.

a.5% b.6% c. 7% d. 8% e. Answer not known

oIFe0 ¥ 46,000 Speidl 1 ewiB 9 0T HTLHIHBGL LIBE& Sefalllg epeold

CTHHSH CHTmsWTes T 52,440-95 2 WMHHH 6aled Il lg iHD BT .

a.5% b.6% c. 7% d. 8% e. alewL G fuwalsvensv
AGRICULTURE & HORTICULTURE GS (18.04.2021)




